
MATHS

BOOKS - TARGET MATHS (HINGLISH)

CONTINUITY

Classical Thinking

1. If :  then :

A. f(x) is discontinous at x = 0

B. 

C. f(x) is continous at x = 0

D. none of these

f(x) = {
+ cos x ; x ≠ 0

2 ; x = 0

sin x

x

lim
x→ 0

f(x) = 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1bKsqUxLAjbK


Answer: C

Watch Video Solution

2. If , then

A. 

B. f(x) is discontinuous at x = 0

C. f(x) is continuous at x = 0

D. none of these

Answer: C

Watch Video Solution

f(x) = {
(sinx2) x ≠ 0

0 x = 0

1
2

lim
x→ 0

f(x) =
1

2

https://dl.doubtnut.com/l/_1bKsqUxLAjbK
https://dl.doubtnut.com/l/_29nP3gxpRKhE


3. If , then

A. 

B.  does not exist

C. f(x) is continuous at x = 0

D. f(x) is discontinuous at x = 0

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

(1 + ) x ≠ 0

e x = 0

4x
5

1
x

4
5

lim
x→ 0

f(x) = e
2
5

lim
x→ 0

f(x)

4. If , is continuous at x = 0, then

f(0) is equal to

A. 1

f(x) = sinx − cos x, x ≠ 0

https://dl.doubtnut.com/l/_zg034v5jaEgS
https://dl.doubtnut.com/l/_sgAUmZ6WAB3V


B. 

C. 

D. 2

Answer: B

Watch Video Solution

−1

−2

5. If , is continuous at x = 0, then

f(0) equals

A. 0

B. 1

C. 2

D. 3

f(x) = , x ≠ 0
2x + tanx

x

https://dl.doubtnut.com/l/_sgAUmZ6WAB3V
https://dl.doubtnut.com/l/_lBjjy1REaomt


Answer: D

Watch Video Solution

6. If the function  is given to

be continuous at x=1, then the value of k is ____.

A. 

B. 2

C. 

D. 

Answer: B

Watch Video Solution

f(x) = {
When x ≠ 1

k When x = 1

x2 − 1

x− 1

−1

−3

−2

https://dl.doubtnut.com/l/_lBjjy1REaomt
https://dl.doubtnut.com/l/_OSMt49lZ7KN3
https://dl.doubtnut.com/l/_Kk1lvsqkGjXy


7. If  is continuous at x = 0, then the

value of k is

A. 12

B. 9

C. 6

D. 2

Answer: C

Watch Video Solution

f(x) = {
x ≠ 0

x = 0

sin 3x
x

k

2

8. Let  if f(x) is continuous at x = 0,

then k is equal to

A. 

f(x) = {
, x ≠ 0

k, x = 0

sin πx

5x

π

5

https://dl.doubtnut.com/l/_Kk1lvsqkGjXy
https://dl.doubtnut.com/l/_TYpX2eIASZzz


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

π

1

0

9. If  is continuous at , where 

, for , then 

A. 3

B. e

C. 3e

D. 

f(x) x = 0 f(x) =
(e3x − 1)sinx

x2

x ≠ 0 f(0) =

e3

https://dl.doubtnut.com/l/_TYpX2eIASZzz
https://dl.doubtnut.com/l/_gkmpLl6ooIZc


Answer: A

Watch Video Solution

10.  is

A. continuous at x = 1

B. left continuous at x = 1

C. right continuous at x = 1

D. none of these

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

(2x + 1) x < 1

2 x = 1

x2 + 1 x > 1

https://dl.doubtnut.com/l/_gkmpLl6ooIZc
https://dl.doubtnut.com/l/_oiRH81nBcXJ6


11. If  , then

A. f(x) is continuous at

B. f(x) is discontinuous at

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
x, for 0 ≤ x <

1 − x, for ≤ x < 1

1
2

1
2

x =
1

2

x =
1

2

lim
x→

f(x) = 1
1 −

2

lim
x→ f ( x ) = 11 +

2

12. , is continuous at x = 1 , then value

of k is

A. 2

f(x) =
⎧⎪
⎨
⎪⎩

2x + 5 x > 1

k x = 1

8x − 1 x < 1

https://dl.doubtnut.com/l/_oIMimSxB1vML
https://dl.doubtnut.com/l/_oA2tcyuCkhxS


B. 5

C. 7

D. 8

Answer: C

Watch Video Solution

13. If  is continuous at x = 2 ,

then k =

A. 1

B. 

C. 2

D. 0

f(x) =
⎧⎪
⎨
⎪⎩

kx − 1 whenx < 2

x + 1 whenx > 2

3 when : x = 2

−2

https://dl.doubtnut.com/l/_oA2tcyuCkhxS
https://dl.doubtnut.com/l/_aGs4Refzelny


Answer: C

Watch Video Solution

14. If  is continuous at x = 1 ,

then c equals

A. 2

B. 4

C. 0

D. 1

Answer: B

Watch Video Solution

f(x) = {
2 0 ≤ x < 1

c − 2x 1 ≤ x ≤ 2

https://dl.doubtnut.com/l/_aGs4Refzelny
https://dl.doubtnut.com/l/_PtbkQDjAn0EL
https://dl.doubtnut.com/l/_EqAzFBGMnRwC


15. If  is continuous at x = 0,

then k is equal to

A. 0

B. 1

C. 2

D. -2

Answer: A

Watch Video Solution

f(x) = {
x2 + k x ≥ 0

−x2 − k x < 0

16. If  is continuous at x = 1,

then the value of k is

A. -6

f(x) = {
2x + 1 , x ≤ 1

−3 − kx2 , x > 1

https://dl.doubtnut.com/l/_EqAzFBGMnRwC
https://dl.doubtnut.com/l/_S94hLwWIK78i


B. 1

C. 

D. 2

Answer: A

Watch Video Solution

−1

17. If  is continuous at x = 3, then 

=

A. 4

B. 3

C. 2

D. 1

f(x) =
⎧⎪
⎨
⎪⎩

x + λ , x < 3

4 , x = 3

3x − 5 , x > 1

λ

https://dl.doubtnut.com/l/_S94hLwWIK78i
https://dl.doubtnut.com/l/_trj2rpGihj0n


Answer: D

Watch Video Solution

18.  is continuous at x = 2 ,

then the value of a and b are respectively

A. 2,4

B. 4,2

C. 1,2

D. 2,2

Answer: B

Watch Video Solution

f(x) = + a , forx < 2

= 8 , forx = 2

= x + b + 4 , forx > 2

x2 − 4

x− 2

https://dl.doubtnut.com/l/_trj2rpGihj0n
https://dl.doubtnut.com/l/_ZXWYOt5Sm3O3


19. If  is continuous at ,

then

A. a = 1, b =0

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
ax + 1 , x ≤

sinx + b , x >

π

2
π

2

x =
π

2

a = b + 1
π

2

b =
aπ

2

a = b =
π

2

20. If , then

A. 

f(x) = {
x2 , whenx ≠ 1

2 , whenx = 1

lim
x→ 1

f(x) = 2

https://dl.doubtnut.com/l/_BX0l6Rec6iWC
https://dl.doubtnut.com/l/_jnrzkLIbGwrh


B. f(x) is continuous at x = 1

C. f(x) is discontinuous at x = 1

D. none of these

Answer: C

Watch Video Solution

21. If , then

A. f(x) is continuous at

B. f(x) is discontinuous at

C. 

D. 

Answer: B

f(x) = {
x2 , whenx ≤ 1

x + 5 , whenx = 1

x = 1

x = 1

lim
x→ 1 +

f(x) = 1

lim
x→ 1 +

f(x) = 6

https://dl.doubtnut.com/l/_jnrzkLIbGwrh
https://dl.doubtnut.com/l/_JUtP6gb6xDh7


Watch Video Solution

22. If , then f is

A. 

B. 

C. f(x) is continuous at

D. f(x) is discontinuous at

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

x, for 0 ≤ x < 1

2, for x = 1

x + 1, for 1 < x ≤ 2

lim
x→ 1 −

f(x) = 0

lim
x→ 1 +

f(x) = 1

x = 1

x = 1

23. If f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

x − 1 , x < 0

, x = 0

x2 , x > 0

1
4

https://dl.doubtnut.com/l/_JUtP6gb6xDh7
https://dl.doubtnut.com/l/_yEGtUbOlL610
https://dl.doubtnut.com/l/_rPfj3RwRYObe


A. 

B. 

C. f(x) is discontinuous at

D. f(x) is continuous at

Answer: C

Watch Video Solution

lim
x→ 0 +

f(x) = 1

lim
x→ 0 −

f(x) = 1

x = 0

x = 0

24. If , then

A. f(x) is continuous at

B. f(x) is discontinuous at

C. 

⎧⎪⎪
⎨
⎪⎪⎩

, x < 2

1 , x = 2

x − , x > 2

5
2

3
2

x = 2

x = 2

lim
x→ 2

f(x) = 1

https://dl.doubtnut.com/l/_rPfj3RwRYObe
https://dl.doubtnut.com/l/_LApEg9EnM5JI


D. none of these

Answer: B

Watch Video Solution

25. If , then

A. 

B. 

C. f(x) is discontinuous at

D. f(x) is continuous at

Answer: C

Watch Video Solution

f(x) = {
1 + x2 , when0 ≤ x < 1

1 − x , whenx > 1

lim
x→ 1 +

f(x) ≠ 0

lim
x→ 1 +

f(x) ≠ 2

x = 1

x = 1

https://dl.doubtnut.com/l/_LApEg9EnM5JI
https://dl.doubtnut.com/l/_v8VDcRak11MT
https://dl.doubtnut.com/l/_cJE8wvFLJOHc


26. If , then

A. f(y) is continuous at

B. f(y) is discontinuous at

C. 

D. 

Answer: B

Watch Video Solution

f(y) = y2 − y − 1 , for0 ≤ y < 2

= 4y + 1 , for2 ≤ y ≤ 4

y = 2

y = 2

lim
y→ 2 −

f(y) = 9

lim
y→ 2 +

f(y) = 1

27. If f and g are both continuous at x = a, then f-g is

A. discontinuous at x = a

B. not defined

https://dl.doubtnut.com/l/_cJE8wvFLJOHc
https://dl.doubtnut.com/l/_pfokJZw2M1Ef


C. continuous at x = a

D. none of these

Answer: C

Watch Video Solution

28. If , for , then  is

A. f(x) is continuous is (2,4)

B. f(x) is discontinuous is (2,4)

C. f(x) is continuous is (2,4) except at x = 3

D. f(x) is discontinuous is (2,4) except at x = 3

Answer: A

Watch Video Solution

f(x) = √x − 2 2 < x < 4 f(x)

https://dl.doubtnut.com/l/_pfokJZw2M1Ef
https://dl.doubtnut.com/l/_Y1t9xQdCfmfa


29. If , then f(x) is

A. continuous on R

B. discontinuous on R

C. continuous on R except at x =0

D. discontinuous on R except at x = 0

Answer: A

Watch Video Solution

f(x) = {
x , x ≥ 0

x2 , x < 0

30. If , then in [0, 1]

A. continuous

f(x) =
x + 1

(x − 2)(x − 5)

https://dl.doubtnut.com/l/_Y1t9xQdCfmfa
https://dl.doubtnut.com/l/_WERBKKkb3vmL
https://dl.doubtnut.com/l/_jNW00jggFGBt


B. discontinuous

C. continuous except at x = 0

D. discontinuous except at x = 0

Answer: A

Watch Video Solution

31. Function  is a continuous

function

A. For all real values of x

B. only for x = 2

C. for all real values of x when 

D. none of these

f(x) = {
x − 1, x < 2

2x − 3, x ≥ 2

x ≠ 2

https://dl.doubtnut.com/l/_jNW00jggFGBt
https://dl.doubtnut.com/l/_eglsaEGAVRop


Answer: A

Watch Video Solution

32. If  is continuous in [0,3],

then the value of k is

A. -1

B. -2

C. -3

D. -4

Answer: B

Watch Video Solution

f(x) = {
3x − 4 , 0 ≤ x ≤ 2

2x + k , 2 < x ≤ 3

https://dl.doubtnut.com/l/_eglsaEGAVRop
https://dl.doubtnut.com/l/_nnGi5PxsuMFN
https://dl.doubtnut.com/l/_n3FzoHoEEa39


33. If f(x) is continuous in [-2,2], where 

, then

A. a = 0, b = 2

B. a = 1, b = 2

C. a = 0, b = -2

D. a = -1, b = 2

Answer: A

Watch Video Solution

f(x) =

⎧⎪
⎨
⎪⎩

x + a , x < 0

x , 0 ≤ x < 1

b − x , x ≥ 1

34. If f (x) is continuous on  defined as 


 


 


find the value of 

0 − 4, 2],

f(x) = 6b − 3ax, for − 4 ≤ x < − 2

= 4x + 1,  for − 2 ≤ x ≤ 2,

a + b.

https://dl.doubtnut.com/l/_n3FzoHoEEa39
https://dl.doubtnut.com/l/_Rywz7GhREeLE


Critical Thinking

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

6

−
1

6

7
6

−
7
6

1. If  for  is continuous at 

then 

A. 0

B. 5

f(x) =
x2 − 10x + 25

x2 − 7x + 10
x ≠ 5 x = 5

f(5) =

https://dl.doubtnut.com/l/_Rywz7GhREeLE
https://dl.doubtnut.com/l/_fZaHNIVg7vZN


C. 10

D. 25

Answer: A

Watch Video Solution

2. If  is continuous at , then

the value of k is

A. 

B. 

C. 

D. 

f(x) =

⎧⎪
⎨
⎪⎩

, x ≠

k , x =

x6 = 1
64

x3 − 1
8

1
2

1
2

x =
1

2

1
2

1

3

1

4

1

5

https://dl.doubtnut.com/l/_fZaHNIVg7vZN
https://dl.doubtnut.com/l/_HgjVDquNPQlm


Answer: C

Watch Video Solution

3. If , then

A. 

B. 

C. f(x) is continuous at

D. f(x) is not continuous at

Answer: C

Watch Video Solution

f(x) = {
sin− 1|x| , whenx ≠ 0

0 , whenx = 0

lim
x→ 0 +

f(x) ≠ 0

lim
x→ 0 −

f(x) ≠ 0

x = 0

x = 0

https://dl.doubtnut.com/l/_HgjVDquNPQlm
https://dl.doubtnut.com/l/_zcO9nR5CvLfB


4. The function ,  at x=0

Watch Video Solution

f(x) = x2sin
1

x
x ≠ 0, (f)0 = 0

5. If  is continuous at x = 0, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
⎧
⎨⎩

xk sin( ), x ≠ 0

0, x = 0

1
x

a < 0

a > 0

a > 1

a < 1

https://dl.doubtnut.com/l/_gG0yYxogR8yo
https://dl.doubtnut.com/l/_mYcmWbvBwow5


6. If , then

A. 

B. 

C. f(x) is continuous at

D. f(x) is discontinuous at

Answer: C

Watch Video Solution

f(x) = {
, whenx ≠ 0

0 , whenx = 0

x

e + 1
1
x

lim
x→ 0 +

f(x) = 1

lim
x→ 0 −

f(x) = 1

x = 0

x = 0

7. Which of the following functions is continuous at x = 0 ?

A. 

B. 

f(x) = {
, x ≠ 0

1 , x = 0

sin 2x
x

f(x) = { (1 + x) , x ≠ 0

1 , x = 0

1
x

https://dl.doubtnut.com/l/_Z5oTrvhLAHUo
https://dl.doubtnut.com/l/_DzrYF1aB2jFK


C. 

D. 

Answer: D

Watch Video Solution

f(x) = {
e , x ≠ 0

1 , x = 0

1
x

f(x) = {
, x ≠ 0

7 , x = 0

3x+ 4 tan x
x

8. Let  and , then at x = 0

A. f is continuous whatever  may be

B. f is discontinuous

C. f is continuous only if 

D. none of these

Answer: A

W t h Vid S l ti

f(x) = {
51 /x, x < 0

λ[x], x ≥ 0
λ ∈ R

λ

λ = 0

https://dl.doubtnut.com/l/_DzrYF1aB2jFK
https://dl.doubtnut.com/l/_c2pGhHJHvm09


Watch Video Solution

9. If , is continuous at x = a then f(a)

is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = , x ≠ a
x − a

√x − √a

√a

2√a

a

2a

10. If , is continuous at x = 1, then

f(1) is

f(x) = , x ≠ 1
√x + 3 − 2

x3 − 1

https://dl.doubtnut.com/l/_c2pGhHJHvm09
https://dl.doubtnut.com/l/_bhKsiOwxlgIc
https://dl.doubtnut.com/l/_S72NtkZ9thTt


A. 12

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

8

1

12

8

11. If  is

continuous at x=0 then find k

A. -4

B. -3

C. -2

f(x) = {
, for−1 ≤ x < 0

2x2 + 3x − 2 , for0 ≤ x ≤ 1

√1 +kx− √1 −kx

x

https://dl.doubtnut.com/l/_S72NtkZ9thTt
https://dl.doubtnut.com/l/_F2ncuyQG7wkC


D. -1

Answer: C

Watch Video Solution

12. If  is continous at x = 4, then k =

A. 60

B. 120

C. 180

D. 240

Answer: D

Watch Video Solution

f(x) =
, x ≠ 4

k , x = 4

x4 − 64x

√x2 + 9 − 5

https://dl.doubtnut.com/l/_F2ncuyQG7wkC
https://dl.doubtnut.com/l/_9ZJOw0Ru0DCZ


13. If , is continuous at x = 0, then

f(0)is

A. -1

B. 0

C. 1

D. 2

Answer: A

Watch Video Solution

f(x) = , x ≠ 0
tan(x2 − x)

x

14. Function  , and

f(x) = k, where x = 0 , is a continuous function at x = 0 Then : k =

A. 0

f(x) = (1 − cos 4x) /(8x2),  where x ≠ 0

https://dl.doubtnut.com/l/_mtMdJ6eKaohQ
https://dl.doubtnut.com/l/_TbGl0ayyAbWG


B. 1

C. -1

D. none of these

Answer: B

Watch Video Solution

15. Let  Then, the value of a if

possible, so that the function is continuous at x = 0, is……….

A. 8

B. -8

C. 4

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, x < 0

a, x = 0

, x > 0

1 − cos 4x

x2

√x

√16 + √x− 4

https://dl.doubtnut.com/l/_TbGl0ayyAbWG
https://dl.doubtnut.com/l/_RiudrG2rrT0s


D. 16

Answer: A

Watch Video Solution

16.  


If f(x) is continuous at x = 0, the value of k is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = , forx ≠ 0

= k , forx = 0

1 − cos 3x
x tan x

3

2

5

2

7
2

9

2

https://dl.doubtnut.com/l/_RiudrG2rrT0s
https://dl.doubtnut.com/l/_B9eWgjweK9DE


17. For what value of k, function  is

continuous at ?

A. 3

B. 6

C. 9

D. 12

Answer: B

Watch Video Solution

f(x) = {
, if x ≠

3, if x =

k cos x
π− 2x

π

2
π

2

x =
π

2

18. If  is continous at ,

then the value of k is

f(x) = , x ≠

= k , x =

cos x− sin x

cos 2x
π

4
π

4

x =
π

4

https://dl.doubtnut.com/l/_B9eWgjweK9DE
https://dl.doubtnut.com/l/_78q4QxJ6mfgO
https://dl.doubtnut.com/l/_gJe7iBtsOc1P


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

1

√2

2√2

1

2√2

19.  is defined by 

 and  is continuous

at  then 

A. -2

B. -4

f :R → R

f(x) = { , x ≠ 0λ, x = 0
cos 3x − cos x

x2
f

x = 0; λ =

https://dl.doubtnut.com/l/_gJe7iBtsOc1P
https://dl.doubtnut.com/l/_LCCtZk4Bj3zG


C. -6

D. -8

Answer: B

Watch Video Solution

20. If  is continuous at , where 

, for , then 

A. 2

B. 

C. 4

D. 

Answer: A

f(x) x =
π

4

f(x) =
1 − tanx

1 − √2 sinx
x ≠

π

4
f( ) =

π

4

2√2

4√2

https://dl.doubtnut.com/l/_LCCtZk4Bj3zG
https://dl.doubtnut.com/l/_ok2A9UYsqLDX


Watch Video Solution

21. If  


is continuous at , then a =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
⎧
⎨⎩

, x ≠

a , x =

3 sin x− √3 cos x

6x−π

π

6
π

6

x =
π

6

√3

1

√3

−√3

−
1

√3

https://dl.doubtnut.com/l/_ok2A9UYsqLDX
https://dl.doubtnut.com/l/_XD0etCUN5XkX


22. If 
 the 


will be continuous function at 
 
 (b) 


(c) 
(d) none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = , whenx ≠ andf( ) = λ,
1 − sinx

(π − 2x)2

π

2

π

2

f(x) x = , whereλ =
π

2

1

8
1

4

1

2

1

8

1

4

1

2

23. If , then the

value of f(0) so that f is continuous at x = 0 is

f(x) = , x ≠ 0
(a + x)

2
sin(a + x) − a2 sina

x

https://dl.doubtnut.com/l/_5igRQRcvCxTw
https://dl.doubtnut.com/l/_bMnZmsuch68F


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a2 cos a + a sina

a2 cos a + 2a sina

2a2 cos a + a sina

2a2 cos a + 2a sina

24. If the function  is continuous

at x = 0, then f(0) is equal to -

A. 

B. 

C. 

f(x) = (x ≠ 0)
2 − √x + 4

sin 2x

1

4

−
1

4

1

8

https://dl.doubtnut.com/l/_bMnZmsuch68F
https://dl.doubtnut.com/l/_8iac7UDOfxNN


D. 

Answer: D

Watch Video Solution

−
1

8

25. The value of 
 so that the function 


 is continuous, is

given
 
(b) 6
(c) 2 (d) 4

A. 

B. 

C. 

D. 

Answer: C

f(0),

f(x) = (x ≠ 0)
(27 − 2x)

2
− 3

9 − 3(243 + 5x)
1 / 5

− 2
2

3

2

3

6

2

4

https://dl.doubtnut.com/l/_8iac7UDOfxNN
https://dl.doubtnut.com/l/_PZZlJmezEnQ6


Watch Video Solution

26. If  is continuous at , where 

, for , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x =
π

2

f(x) =
√2 − √1 + sinx

cos2 x
x ≠

π

2
f( ) =

π

2

1

√2

1

2√2

1

3√2

1

4√2

https://dl.doubtnut.com/l/_PZZlJmezEnQ6
https://dl.doubtnut.com/l/_YKFbdIn67CjX


27. If , is continuous

at x = 0, then f(0) is

A. 1

B. 2

C. -2

D. 

Answer: A

Watch Video Solution

f(x) = , x ≠ 0
(1 + sinx) − √1 − sinx

x

1

2

28. If the function , is

continuous at x = 0, then f(0) is equal to

A. -2

f(x) = , x ≠ 0
cos2 x − sin2 x − 1

√x2 + 1 − 1

https://dl.doubtnut.com/l/_A8es1k3bHWA5
https://dl.doubtnut.com/l/_zSzySgqrmLH7


B. -1

C. 0

D. -4

Answer: D

Watch Video Solution

29. The value of f at x =0 so that funcation

 is continuous at x =0 is

A. log 2

B. 4

C. 

D. log 4

f(x) = , x ≠ 0
2x − 2−x

x

e4

https://dl.doubtnut.com/l/_zSzySgqrmLH7
https://dl.doubtnut.com/l/_LX4pXXrIkUuM


Answer: D

Watch Video Solution

30. If  for  is continuous at x = 0, iff

f(0) is equal to

A. log 3

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
3x + 3−x − 2

x2
x ≠ 0

(log 3)
2

log( )
1

3

e3

https://dl.doubtnut.com/l/_LX4pXXrIkUuM
https://dl.doubtnut.com/l/_ZZoWhQtKJtfB


31. If f(x) is continuous at x = 0, where

, then k is equal to

A. 2

B. -2

C. 4

D. -4

Answer: A

Watch Video Solution

f(x) = , forx ≠ 0

= k , forx = 0

8x − 2x

kx − 1

32. If  is continuous at , where 

, for , then 

f(x) x = 0

f(x) =
(e3x − 1)sinx ∘

x2
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_kqh3lbISbq8k
https://dl.doubtnut.com/l/_zDqry8z4Juwq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

30

π

45

π

60

π

90

33. If  


is continuous at x = 0, the value of k is

A. 0

B. 1

C. 2

f(x) = , x ≠ 0

= , x = 0

e5x −e2x

sin 3x

k

2

https://dl.doubtnut.com/l/_zDqry8z4Juwq
https://dl.doubtnut.com/l/_cTL8B5WCmu2m


D. 5

Answer: C

Watch Video Solution

34. If  is continuous at x = 0, then f(0)

=

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

f(x) = , x ≠ 0
ex − esin x

2(x sinx)

1

2

https://dl.doubtnut.com/l/_cTL8B5WCmu2m
https://dl.doubtnut.com/l/_K2AHEd4vBPaP


35. In order that the function  is continuous

at x = 0, f(0) must be defined as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = (x + 1)cot x

f(0) =
1

e

f(0) = 0

f(0) = e

f(0) = e2

36. If  

is continuous at x = 0, then k =

f(x) = ( ) , x ≠ 0

= k , x = 0

4x+ 1
1 − 4x

1
x

https://dl.doubtnut.com/l/_K2AHEd4vBPaP
https://dl.doubtnut.com/l/_urBl1P6QleHG
https://dl.doubtnut.com/l/_nuzZ9mBiU8Og


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

e2

e4

e6

e8

37. If  

is continuous at x = 0 , then k is equal to

A. 0

B. 1

C. e

f(x) = (sec2 x)
cot2 x

, x ≠ 0

= k , x = 0

https://dl.doubtnut.com/l/_nuzZ9mBiU8Og
https://dl.doubtnut.com/l/_T9CgCrQDr1y6


D. 

Answer: C

Watch Video Solution

e2

38. If  is continuous at , where 

, then  =

A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x =
π

2

f(x) = (sinx) , forx ≠
1

π− 2x
π

2
f( )

π

2

e2

1

0

https://dl.doubtnut.com/l/_T9CgCrQDr1y6
https://dl.doubtnut.com/l/_6B769ZWEnv6q


39.  

If f is continuous at x = 0, then k =

A. 1

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

f(x) = , x ≠ 0

= 5 , x = 0

log ( 1 +kx )

sin x

40. If  

is continuous at , then the value of k is

f(x) = , x ≠ 7

= k , x = 7

logx− log 7

x− 7

x = 7

https://dl.doubtnut.com/l/_6B769ZWEnv6q
https://dl.doubtnut.com/l/_dZimFupJb3rS
https://dl.doubtnut.com/l/_1W1NCHbwRiuW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

1

5

1

7

1

9

41. If  is continuous at

x = 0, then k is equal to

A. 

B. 

C. 

f(x) = {
, x ≠ 0

          k, x = 0

log ( 1 + 2ax ) − log ( 1 − bx )
x

2a + b

2a − b

b − 2a

https://dl.doubtnut.com/l/_1W1NCHbwRiuW
https://dl.doubtnut.com/l/_VNJqDLIlTuWD


D. 

Answer: A

Watch Video Solution

a + b

42.  


if f is continouous at x = 0, then k =

A. 

B. log 3

C. 2 log 3

D. 

Answer: D

Watch Video Solution

f(x) = , x ≠ 0

= k , x = 0

(3sin x − 1 )
2

x log ( 1 +x )

log 3
1

2

(log 3)2

https://dl.doubtnut.com/l/_VNJqDLIlTuWD
https://dl.doubtnut.com/l/_y3bHjS88M79g


43. The value of f(0) so that the function

, is continuous at x = 0 is

A. 0

B. 1

C. -1

D. e

Answer: B

Watch Video Solution

f(x) = , x ≠ 0
log(sec2 x)

x sinx

44. The value of a for which the function

f(x) = f(x) = { , x ≠ 012(log 4)3, x = 0
(4x − 1)3̂

sin(xa)log{(1 + x23)}

https://dl.doubtnut.com/l/_y3bHjS88M79g
https://dl.doubtnut.com/l/_195d61p3jLB4
https://dl.doubtnut.com/l/_QbTLkP1wopwI


may be continuous at 
is
1 (b) 2 (c) 3 (d)
none of these

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

x = 0

45.  


is continuous at x = 3, then

A. 

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

+ a , x > 3

5 , x = 3

2x2 + 3x + b , x < 3

x2 − 9

x− 3

a = 1, b = − 22

https://dl.doubtnut.com/l/_QbTLkP1wopwI
https://dl.doubtnut.com/l/_B2oTEe98KeF2


B. 

C. 

D. 

Answer: D

Watch Video Solution

a = 1, b = 22

a = − 1, b = 22

a = − 1, b = − 22

46. If  is continuous at x = 0 , where

 


and , then the value of a and b are respectively

A. 

B. 

C. 

f(x)

f(x) = {
x2 + a , x ≥ 0

2√x2 + 1 + b , x < 0

f( ) = 2
1

2

,
7
4

1

4

, −
7
4

1

4

,
−1

4
7
4

https://dl.doubtnut.com/l/_B2oTEe98KeF2
https://dl.doubtnut.com/l/_7bb9PRTWzXRh


D. 

Answer: B

Watch Video Solution

− , −
7
4

1

4

47. Find the values of a and b sucht that the function f defined

by 

 

is a continous function at  .

A. 

B. 

C. 

D. 

fx =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

+ a if x < 4

a + b if x = 4

+ b if x > 4

x− 4

|x− 4 |

x− 4

|x− 4 |

x = 4

a = 0, b = 0

a = 1, b = 1

a = − 1, b = 1

a = 1, b = − 1

https://dl.doubtnut.com/l/_7bb9PRTWzXRh
https://dl.doubtnut.com/l/_IjDDMXUBthRR


Answer: D

Watch Video Solution

48. The value of p and q for which the function 

 

is continuous for all x in R, are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, x < 0

q , x = 0

, x > 0

sin ( p+ 1 ) x+ sin x

x

√x+x2 − √x

x1 / 2

a = − 2, b = 0, c ≠ 0

a = − 2, b ≠ 0, c = 0

a = 2, b = 0, c ≠ 0

a = 2, b ≠ 0, c = 0

https://dl.doubtnut.com/l/_IjDDMXUBthRR
https://dl.doubtnut.com/l/_0oG3BzEmvZxY


Watch Video Solution

49. If  , then

A. 

B. 

C. f(x) is discontinuous at

D. f(x) is continuous at

Answer: C

Watch Video Solution

f(x) = {
e , whenx ≠ 0

1 , whenx = 0

1
x

lim
x→ 0 +

f(x) = e

lim
x→ 0 +

f(x) = 0

x = 0

x = 0

50. If  , then

A. f(x) is continuous at

f(x) = {
, whenx ≠ 2

16 , whenx = 2

x4 − 16

x− 2

x = 2

https://dl.doubtnut.com/l/_0oG3BzEmvZxY
https://dl.doubtnut.com/l/_htj20tyKEKHe
https://dl.doubtnut.com/l/_ysGMDXjuqmGl


B. f(x) is discontinuous at

C. 

D. none of these

Answer: B

Watch Video Solution

x = 2

lim
x→ 2

f(x) = 16

51. The function  is discontinuous at

A. x = 4

B. 

C. 

D. 

Answer: C

f(x) =
|3x − 4|

3x − 4

x =
3

4

x =
4
3

x =
2

3

https://dl.doubtnut.com/l/_ysGMDXjuqmGl
https://dl.doubtnut.com/l/_cGpS7tB0Wa0k


Watch Video Solution

52. If  , then f(x) is discontinuous

at

A. x = 0

B. x = 1

C. x = 0 and x = 1

D. none of these

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

|x| , x < 0

x , 0 ≤ x ≤ 1

1 , x > 1

https://dl.doubtnut.com/l/_cGpS7tB0Wa0k
https://dl.doubtnut.com/l/_x8J3xxylQiDl


53. If , then f(x) is

A. continuous at x = 0

B. discontinuous at x = 0

C. 

D. 

Answer: B

Watch Video Solution

f(x) = , forx ≠ 0

= 1 , forx = 0

|x |
x

lim
x→ 0 −

f(x) = 1

lim
x→ 0 +

f(x) = − 1

54. The function 

A. is continuous at x = 0

B. is discontinuous at x = 0

sinx

|x|

https://dl.doubtnut.com/l/_VmqQx1QwgUyS
https://dl.doubtnut.com/l/_WLMnFAOlAHU5


C. has removable discontinuity at x = 0

D. none of these

Answer: B

Watch Video Solution

55. If  , then

A. f(x) is continuous at x = 0

B. f(x) is discontinuous at x = 0

C. 

D. 

Answer: B

Watch Video Solution

f(x) = {
, whenx ≠ 0

2 , whenx = 0

x− |x |
x

lim
x→ 0

f(x) = 2

lim
x→ 0 −

f(x) = lim
x→ 0 +

f(x)

https://dl.doubtnut.com/l/_WLMnFAOlAHU5
https://dl.doubtnut.com/l/_vm4zeZ2hN7vF


Watch Video Solution

56. Select the write the most appropriate answer from the given

alternatives in each of the following : 

The function  is not

continuous at  because

A. 

B.  does not exist

C.  does not exist

D.  does not exist

Answer: D

Watch Video Solution

f(x) = , x ≠ 0 and f(0) = 0
|x|

x2 + 2x

x = 0

lim
x→ 0

f(x) ≠ f(0)

lim
x→ 0 +

f(x)

lim
x→ 0 −

f(x)

lim
x→ 0

f(x)

https://dl.doubtnut.com/l/_vm4zeZ2hN7vF
https://dl.doubtnut.com/l/_5tPNbjl0FJQV


57. The function 

A. 

B. f(x) is continuous at

C. 

D. f(x) is not continuous at

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

x ≠ 0

0 x = 0

e − 1
1
x

e + 1
1
x

lim
x→ 0 +

f(x) = − 1

x = 0

lim
x→ 0 −

f(x) = 1

x = 0

58.  is discontinuous at x =

A. 0,1

B. 1,2

f(x) =
x2 + x − 2

x2 − 3x + 2

https://dl.doubtnut.com/l/_31xZq2Dt2U8H
https://dl.doubtnut.com/l/_IzTfLpGJiiJ8


C. 

D. 

Answer: B

Watch Video Solution

−1, − 2

0, − 1

59. The point at which the function  is

discontinuous are

A. 

B. 

C. 

D. 

Answer: B

f(x) =
x + 1

x2 + x − 12

−3, 4

3, − 4

3, 4

−3, − 4

https://dl.doubtnut.com/l/_IzTfLpGJiiJ8
https://dl.doubtnut.com/l/_hOagbE2ZjFyT


Watch Video Solution

60. The function  is

A. discontinuous at only one point

B. discontinuous exactly at two points

C. discontinuous exactly at three points

D. none of these

Answer: C

Watch Video Solution

f(x) =
4 − x2

4x − x3

61. If  , then f(x) isf(x) =
⎧⎪
⎨
⎪⎩

4 − 3x , 0 < x ≤ 2

2x − 6 , 2 < x ≤ 3

x + 5 , 3 < x ≤ 6

https://dl.doubtnut.com/l/_hOagbE2ZjFyT
https://dl.doubtnut.com/l/_OEvIE0jbnfUi
https://dl.doubtnut.com/l/_MYCtBMBDBjEy


A. continuous at x = 2 and discontinuous at x = 3

B. continuous at x = 3 and discontinuous at x = 2

C. continuous at x = 2 and x = 3

D. discontinuous at x = 2 and x = 3

Answer: A

Watch Video Solution

62. If , then

A. f(x) is discontinous at 

B. f(x) is continous at 

C. f(x) is continous at 

D. none of these

f(x) = {
x sinx, for 0 < x ≤

sin(π + x), for < x < π

π

2
π

2
π

2

x =
π

2

x =
π

2

x = 0

https://dl.doubtnut.com/l/_MYCtBMBDBjEy
https://dl.doubtnut.com/l/_thEquZ85QNA7


Answer: A

Watch Video Solution

63. If , then f(y) is

A. f(y) is discontinuous at

B. f(y) is continuous at

C.  does not exist

D. none of these

Answer: A

Watch Video Solution

f(y) =
⎧
⎨⎩

,  for y ≠ 0

4 , for y = 0

(e2y − 1 ) ⋅ sin y

y2

y = 0

y = 0

lim
y→ 0

f(y)

https://dl.doubtnut.com/l/_thEquZ85QNA7
https://dl.doubtnut.com/l/_UhinyQnZL6dt


64. For the function  which

one is a true statement

A. f(x) is continuous at x = 0, when 

B. f(x) is discontinuous at x = 0, when 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = {
, where x ≠ 0

1, when x = 0

sin2 ax

x2

a ≠ ± 1

a ≠ ± 1

lim
x→ 0

f(x) = a

lim
x→ 0

f(x) = a3

65. The points of discontinuity of tan x are

A. nπ, n ∈ I

https://dl.doubtnut.com/l/_c3liH7aA0U8Y
https://dl.doubtnut.com/l/_G1ZUGbCp6Pj3


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2nπ, n ∈ I

(2n + 1) , n ∈ I
π

2

66. If , then

A. 

B. 

C. f(x) is continuous at 

D. f(x) is discontinuous at 

f(x) =
⎧
⎨⎩

, for 0 < x <

, for < x < π

sin 2x

√1 − cos 2x

π

2

cos x
π− 2x

π

2

lim
x→

f(x) = 1
π −

2

lim
x→

f(x) = 1
π +

2

x =
π

2

x =
π

2

https://dl.doubtnut.com/l/_G1ZUGbCp6Pj3
https://dl.doubtnut.com/l/_qqoDC8QRUvQL


Answer: D

Watch Video Solution

67. If , then

A. f(x) is discontinuous at 

B. f(x) is continuous at 

C.  does not exist

D. none of these

Answer: A

Watch Video Solution

f(x) = , x ≠ 0

= 1 , x = 0

x cos x− 3 tan x

x2 + 2 sin x

x = 0

x = 0

lim
x→ 0

f(x)

https://dl.doubtnut.com/l/_qqoDC8QRUvQL
https://dl.doubtnut.com/l/_PcX5fm4ao5Ns


68. If  , then

A. f(x) is continuous at 

B. f(x) is discontinuous at 

C.  does not exist

D. none of these

Answer: B

Watch Video Solution

f(x) = {
, x ≠ 0

(log 5 + 1) , x = 0

5x −ex

sin 2x

1
2

x = 0

x = 0

lim
x→ 0

f(x)

69.  at  is

A. f(x) is continuous at 

B. f(x) has removable discontinuity at 

f(x) =
⎧
⎨
⎩

, x ≠

log 5, x =

5cosx − 1

−x
π

2

π

2

π

2

x =
π

2

x =
π

2

x =
π

2

https://dl.doubtnut.com/l/_MkKcT4nLsYWg
https://dl.doubtnut.com/l/_3oca7V0f7ZO1


C. f(x) has irremovable discontinuity at 

D. none of these

Answer: B

Watch Video Solution

x =
π

2

70. If f(x)  then , at x = 0 the

function f is

A. f(x) is continuous at 

B. f(x) has removable discontinuity at 

C. f(x) has irremovable discontinuity at 

D. none of these

Answer: B

= ,    if x ≠ 0

= 2 log 2,                if  x = 0

( 2x − 1 ) 2

sin x . log ( 1 +x )

x = 0

x = 0

x = 0

https://dl.doubtnut.com/l/_3oca7V0f7ZO1
https://dl.doubtnut.com/l/_ImO0q2lLRbsB


Watch Video Solution

71. If , is continuous in ,

then  is equal to

A. 1

B. -1

C. 

D. 

Answer: C

Watch Video Solution

f(x) = , x ≠
tan( − x)π

4

cot 2x

π

4
(0, )

π

2

f( )
π

4

1

2

2

https://dl.doubtnut.com/l/_ImO0q2lLRbsB
https://dl.doubtnut.com/l/_fNCYaN8vvW0y


72. If  is continuous in

[-1,1] then p is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
⎧
⎨
⎩

, −1 ≤ x < 0

, 0 ≤ x ≤ 1

√1 +px− √1 −px

x

2x+ 1

x− 2

−1

−1

2

1

2

1

73. The function  is

A. continuous for all real values of x

f(x) =
x2 − 4

sinx − 2

https://dl.doubtnut.com/l/_sPyZWnoSIEzY
https://dl.doubtnut.com/l/_VI4tTkYI1LCU


B. discontinuous when x = 2

C. discontinuous when sin x = 2

D. none of these

Answer: A

Watch Video Solution

74. If  is continuous on [0, 8] , where

, then

A. 

B. 

C. 

D. 

f(x)

f(x) =
⎧⎪
⎨
⎪⎩

x2 + ax + 6, for 0 ≤ x < 2

3x + 2, for 2 ≤ x ≤ 4

2ax + 5b, for 4 < x ≤ 8

a = 1, b =
22

5

a = − 1, b =
22

5

a = 1, b =
−22

5

a = − 1, b =
−22

5

https://dl.doubtnut.com/l/_VI4tTkYI1LCU
https://dl.doubtnut.com/l/_OegYcd3ZFmQv


Answer: B

Watch Video Solution

75. If f(x) is continuous in [-2,2], where 

, then the value

of  is

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

− 2 , for−2 ≤ x < 0

2x + 1 , for0 ≤ x ≤ 1

2b√x2 + 3 − 1 , for1 < x ≤ 2

sin ax

x

(a + b)

https://dl.doubtnut.com/l/_OegYcd3ZFmQv
https://dl.doubtnut.com/l/_1lIKGNE1xQXR


76. The value of a and b such that the function defined by 

, is continuous on its

domain are

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

7 , ifx ≤ 2

ax + b , if2 < x < 9

21 , ifx ≥ 9

a = 3, b = 2

a = 2, b = 3

a = 7, b = 9

https://dl.doubtnut.com/l/_1lIKGNE1xQXR
https://dl.doubtnut.com/l/_WCAivliquoil


77. If , for , then

for f to be continuous in 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
ex + e−x − 2

x sinx
x ∈ [ , ] − {0}

−π

2

π

2

[ , ], f(0) =
−π

2

π

2

e

e2

78. Discuss the continuity of

A. R

f(x) = { , x ≠ 1, 26, x = 112, x = 2
x4 − 5x2 + 4

∣(x − 1)(x − 2)

https://dl.doubtnut.com/l/_PLrQkLb6yFXB
https://dl.doubtnut.com/l/_suhkWRz5fuwp


B. 

C. 

D. 

Answer: D

Watch Video Solution

R − {1}

R − {2}

R − {1, 2}

79. The values of a and b so that the function

 is continuous

for , are

A. 

B. 

C. 

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

x + a√2 sinx, 0 ≤ x < π/4

2x cot x + b, π/4 ≤ x ≤ π/2

a cos 2x − b sinx, π/2 < x ≤ π

x ∈ [0, π]

a = , b =
π

6

π

12

a = − , b =
π

6

π

12

a = , b = −
π

6

π

12

https://dl.doubtnut.com/l/_suhkWRz5fuwp
https://dl.doubtnut.com/l/_uH7jbyup8xjM


D. 

Answer: C

Watch Video Solution

a = − , b = −
π

6

π

12

80. If the function

 

is continuous in the interval , then the value of a and

b are respectively

A. 0,2

B. 1,1

C. 2,0

D. 2,1

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

1 + (sin) , for−∞ < x ≤ 1

ax + b , for1 < x < 3

6(tan) , for3 ≤ x < 6

πx

2

πx

12

( − ∞, 6)

https://dl.doubtnut.com/l/_uH7jbyup8xjM
https://dl.doubtnut.com/l/_h7e8WyrrKhxd


Competitive Thinking

Answer: C

Watch Video Solution

1. If  is continuous at x = 2, then the

value of k is

A. 3

B. 4

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
kx2 ifx ≤ 2

3 ifx > 2

3

4

4

3

https://dl.doubtnut.com/l/_h7e8WyrrKhxd
https://dl.doubtnut.com/l/_dtqE4RrZCGby


Watch Video Solution

2. For the function , if f(x) is

continuous at x = a, then b is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
, x ≠ a

b       , x = a

x3 −a3

x−a

a2

2a2

3a2

4a2

3. The function 'f' is defined by , if 

 if  if  is continuous,

f(x) = 2x − 1

x > 2, f(x) = k x = 2 and x2 − 1 x < 2

https://dl.doubtnut.com/l/_dtqE4RrZCGby
https://dl.doubtnut.com/l/_Exe6BumSP1Vb
https://dl.doubtnut.com/l/_HYzoA8oq3DQJ


then the value of k is equal to

A. 2

B. 3

C. 4

D. 

Answer: B

Watch Video Solution

−3

4.  is continuous at x = 5, find k.

A. 

B. 

C. 

f(x) = {
3x − 8 , ifx ≤ 5

2k , ifx > 5

4

7

2

7

7
2

https://dl.doubtnut.com/l/_HYzoA8oq3DQJ
https://dl.doubtnut.com/l/_iOkJpGw2tUP5


D. 

Answer: C

Watch Video Solution

3

7

5. If  


is continuous at x = 0 and  then  is

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = x2 + α , forx ≥ 0

= 2√x2 + 1 + β , forx < 0

f( ) = 2
1

2
α2 + β2

8

25

25

8

1

3

https://dl.doubtnut.com/l/_iOkJpGw2tUP5
https://dl.doubtnut.com/l/_xJmyHGXCcVsR


6. In order that the function  is continuous at

x = 0, f(0) must be defined as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = (x + 1)
1
x

f(0) = 0

f(0) = e

f(0) =
1

e

f(0) = 1

7. If  


is continuous at x = -5, then the value of 'a' will be

f(x) = {
, whenx ≠ − 5

a , whenx = − 5

x2 + 3x− 10

x2 + 2x− 15

https://dl.doubtnut.com/l/_xJmyHGXCcVsR
https://dl.doubtnut.com/l/_KpjZsWGa2w0x
https://dl.doubtnut.com/l/_eXE1uYQblGR6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

7
8

8

7

2

3

8. If , is continuous at x = 3,

then k =

A. 3

B. 0

C. -6

f(x) = {
, ifx ≠ 3

2x + k , otherwise

x2 − 9

x− 3

https://dl.doubtnut.com/l/_eXE1uYQblGR6
https://dl.doubtnut.com/l/_5fZgJiGYZGZN


D. 

Answer: B

Watch Video Solution

1

6

9. If  


is continuous at x = 0, then the value of k is

A. k = 1

B. k = -1

C. k = 0

D. k = 2

Answer: B

Watch Video Solution

f(x) =
⎧
⎨
⎩

if−1 ≤ x < 0

if0 ≤ x ≤ 1

√1 +kx− √1 −kx

x

2x+k

x− 1

https://dl.doubtnut.com/l/_5fZgJiGYZGZN
https://dl.doubtnut.com/l/_O4LGv9HJAyOY


10. If  is continuous at x = 0,

then the value of k will be

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = {
, whenx ≠ 0

k , whenx = 0

sin 2x
5x

2

5

−
2

5

5

2

https://dl.doubtnut.com/l/_O4LGv9HJAyOY
https://dl.doubtnut.com/l/_yqdsxelUYm1L


11. If  is continuous at x = 0, then

the value of k is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
, x ≠ 0

2k , x = 0

3 sin πx

5x

3π

10

3π

5

π

10

3π

10

12. If , then

A. 

f(x) = |x − 2|

lim
x→ 2 +

f(x) ≠ 0

https://dl.doubtnut.com/l/_K1TFfiR7J6MQ
https://dl.doubtnut.com/l/_2hPx1xL2ohg5


B. 

C. 

D. f(x) is continuous at x = 2

Answer: D

Watch Video Solution

lim
x→ 2 −

f(x) ≠ 0

lim
x→ 2 +

f(x) ≠ lim
x→ 2 −

f(x)

13. If , then the function

A. is differential at x = b

B. is continuous at x = b

C. is discontinuous at x = b

D. none of these

Answer: B

f(x) = |x − b|

https://dl.doubtnut.com/l/_2hPx1xL2ohg5
https://dl.doubtnut.com/l/_cz44OuHr4MYd


Watch Video Solution

14. If , then

A. f(x) is continuous at x = 0

B. f(x) is continuous at 

C. f(x) is continuous at 

D. f(x) is discontinuous at 

Answer: C

Watch Video Solution

f(x) = {
1 , when0 < x ≤

2(sin) x , when < x < π

3π
4

2
9

3π
4

x = π

x =
3π

4

x =
3π

4

15. If  is continuous at x = 0 then k

=

f(x) = {
, x ≠ 0

k , x = 0

1 − cos x
x

https://dl.doubtnut.com/l/_cz44OuHr4MYd
https://dl.doubtnut.com/l/_FW33LcE00f8G
https://dl.doubtnut.com/l/_qShj9HYmSUQt


A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

4

−
1

2

16. If the function  is continuous

at x = 1, then the value of k is

A. 1

B. 

C. 0

f(x) = { (cos x) , x ≠ 1

k , x = 1

1
x

−1

https://dl.doubtnut.com/l/_qShj9HYmSUQt
https://dl.doubtnut.com/l/_GBOhwGkiAAKt


D. e

Answer: A

Watch Video Solution

17. If  is continuous at x = 1, then the

value of k is

A. e

B. 1

C. -1

D. 0

Answer: B

Watch Video Solution

f(x) = {
, x ≠ 1

k , x = 1

loge x

x− 1

https://dl.doubtnut.com/l/_GBOhwGkiAAKt
https://dl.doubtnut.com/l/_22VQj026yPVq


18. The function  is not defined at 

. The value of , so that f(x) is continuous at  is

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

f(x) =
1 − sinx + cos x

1 + sinx + cos x

x = π f(π) x = π

1

2

1

2

−1

19. If  


is continuous at x = 0, then k =

f(x) = , x ≠ 0

= 4 , x = 0

(ekx − 1 )
2

sin x

x3

https://dl.doubtnut.com/l/_22VQj026yPVq
https://dl.doubtnut.com/l/_nzYDz0WkMgdf
https://dl.doubtnut.com/l/_wgV84GkjAjd8


A. 2

B. 

C. 

D. 3

Answer: C

Watch Video Solution

−2

±2

20. If  is continuous at x = 0, then

value of f(0) is

A. 

B. 

C. 

f(x) = , forx ≠ 0
ex

2
− cos x

x2

2

3

5
2

1

https://dl.doubtnut.com/l/_wgV84GkjAjd8
https://dl.doubtnut.com/l/_vxza5OjfqXCp


D. 

Answer: D

Watch Video Solution

3

2

21. For what value of k, the function defined by

 


is continuous at x = 0?

A. 2

B. 

C. 

D. 

Answer: C

f(x) = , forx ≠ 0

= k , forx = 0

log ( 1 + 2x ) sin x6

x3

1

2

π

90

90

π

https://dl.doubtnut.com/l/_vxza5OjfqXCp
https://dl.doubtnut.com/l/_QaZHSPRlyYlf


View Text Solution

22. If  


is continuous at x = 0, then the value of k is

A. 

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

f(x) = log1 − 3x(1 + 3x) , x ≠ 0

= k , x = 0

−1

−2

https://dl.doubtnut.com/l/_QaZHSPRlyYlf
https://dl.doubtnut.com/l/_12zAPFMlpYtL


23. If  


is continuous at x = 0 then k is

A. 

B. 

C. e

D. 0

Answer: B

View Text Solution

f(x) = (log)(sec2 x)
cot2 x

, forx ≠ 0

= k , forx = 0

e− 1

1

24. If the function  


is continuous at x = 0, then k = ?

f(x) = [log( + x)] , forx ≠ 0

= k , forx = 0

π

4

1
x

https://dl.doubtnut.com/l/_AS2ptzrhCNK6
https://dl.doubtnut.com/l/_SZDZXKbT1Xum


A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

e− 1

e2

e− 2

25. Function  is continuous

at x = 1 , then k = _________.

A. 

B. 

C. 

f(x) = {
(log2 2x)logx 8 , x ≠ 1

(k − 1)
3

, x = 1

e + 1

e1 / 3

e3

https://dl.doubtnut.com/l/_SZDZXKbT1Xum
https://dl.doubtnut.com/l/_1WSbVy8p7vLH


D. 

Answer: A

Watch Video Solution

e − 1

26. For the function  to be

continuous at x = 0, the value of f(0) should be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
loge(1 + x) − loge(1 − x)

x

−1

0

−2

2

https://dl.doubtnut.com/l/_1WSbVy8p7vLH
https://dl.doubtnut.com/l/_5NFrsDX6BncG


27. The function  is not

defined at x = 0. The value which should be assigned to f at x = 0

so that it is continuous at x = 0, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
log(1 + ax) − log(1 − bx)

x

a − b

a + b

loga + log b

loga − log b

https://dl.doubtnut.com/l/_5NFrsDX6BncG
https://dl.doubtnut.com/l/_4SOJK9A6Kavz


28. If the function  


is continuous at x = 2, then

A. A = 0

B. A = 1

C. A = -1

D. A = 2

Answer: A

Watch Video Solution

f(x) = {
, x ≠ 2

2 , forx = 2

x2 − (A+ 2 ) x+A

x− 2

29. The value of k which makes 

 continuous at x = 0 isf(x) =
⎧
⎨⎩

(sin( )) , x ≠ 0

k , x = 2

1
x

https://dl.doubtnut.com/l/_OGDkr1Rr21xi
https://dl.doubtnut.com/l/_v4EVe1DvblvG


A. 8

B. 1

C. -1

D. none of these

Answer: D

Watch Video Solution

30. If the function f(x) defined by 

 


is continuous at x = 0, then k =

A. 0

B. 1

f(x) = x(sin) , forx ≠ 0

= k , forx = 0

1
x

https://dl.doubtnut.com/l/_v4EVe1DvblvG
https://dl.doubtnut.com/l/_DKyeq0m4KdBZ


C. 

D. 

Answer: A

Watch Video Solution

−1

1

2

31. If  is continuous at x

= 1, then the most suitable values of a, b are

A. 

B. 

C. 

D. All of the above

f(x) =
⎧⎪
⎨
⎪⎩

ax2 − b , when0 ≤ x ≤ 1

2 , whenx = 1

x + 1 , when1 < x ≤ 2

a = 2, b = 0

a = 1, b = − 1

a = 4, b = 2

https://dl.doubtnut.com/l/_DKyeq0m4KdBZ
https://dl.doubtnut.com/l/_iRoCZ54ehsGf


Answer: D

Watch Video Solution

32. If  is continuous on R,

then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

sinx , ifx ≤ 0

x2 + a2 , if0 < x < 1

bx + 2 , if1 ≤ x ≤ 2

0 , ifx > 2

a + b + ab =

−2

0

2

−1

https://dl.doubtnut.com/l/_iRoCZ54ehsGf
https://dl.doubtnut.com/l/_CWwehu3w7glV


33. If  , be continuous at ,

then the value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
, x ≠

λ , x =

1 − sin zx

π− 2x
π

2
π

2

x =
π

2

λ

−1

1

0

2

34. If a function of defined by  

is continuous at , then k =

f(x) = {
, ifx ≠

k , ifx =

1 − sin zx

π− 2x
π

4
π

4

x =
π

4

https://dl.doubtnut.com/l/_FZC0u6ZkfICX
https://dl.doubtnut.com/l/_XHqS2DEtSf2L


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1

4

1

−
1

4

2

35. Let  

The value of a so that f(x) is continuous at , is

A. 2

B. 4

C. 3

f(x) =
⎧
⎨
⎩

, x ≠

a , x =

tan x− cot x

x− π

4

π

4

π

4

x =
π

4

https://dl.doubtnut.com/l/_XHqS2DEtSf2L
https://dl.doubtnut.com/l/_Pf6M0zDrQ8sx


D. 1

Answer: B

View Text Solution

36. if  and  and 

 where  denotes the greatest integer less

than or equal to  then in order that the continuous at 

 the value of  is equal to

A. Equal to 0

B. Equal to 1

C. Equal to -1

D. Indeterminate

f(x) = , x > 0
sin[x]

[x] + 1
f(x) = , x < 0

[x]cos π
2

[x]

f(x) = k, x = 0 [x]

x,

x = 0, k

https://dl.doubtnut.com/l/_Pf6M0zDrQ8sx
https://dl.doubtnut.com/l/_8BJA0iQU6uWI


Answer: A

Watch Video Solution

37. The function defined by 

 , is continuous from right

at the point x = 2, then k is equal to

A. 0

B. 

C. 

D. 

Answer: B

View Text Solution

f(x) =
⎧
⎨
⎩

(x2 + e )
2

, x ≠ 2

k , x = 2

1
2 − x

1

4

−
1

4

4

https://dl.doubtnut.com/l/_8BJA0iQU6uWI
https://dl.doubtnut.com/l/_gk3eLfUVxAgK


38. If  is continuous at x = 0

then f(0) must be defined as

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

f(x) = , x ≠ 0
loge(1 + x2 tanx)

sinx3

1

2

−1

39. The function  given by 

 can be made continuous at x=0 by

defining f(0) as

f :R − {0} → R

f(x) = −
1

x

2

e2x − 1

https://dl.doubtnut.com/l/_gk3eLfUVxAgK
https://dl.doubtnut.com/l/_pTuZDwX16jxW
https://dl.doubtnut.com/l/_ES4V8WET0Sfc


A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

−1

40. If  


is continuous at x = 0, then the value of k is

A. 

B. 

C. 

f(x) = , forx ≠ 0

= ( )log( ) ⋅ log 2 , forx = 0

20x + 3x − 6x − 10x

1 − cos 8x

k

16
10
3

sin2 30∘

3
log 3( )1

2

3√
1

4

https://dl.doubtnut.com/l/_ES4V8WET0Sfc
https://dl.doubtnut.com/l/_VrtxZRzMnOrp


D. 

Answer: B

Watch Video Solution

log2 2

3

41. If  


is continuous at x = 2, then a+b =

A. 2

B. 1

C. 0

D. -1

Answer: C

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

+ a , x < 2

a + b , x = 2

+ b , x > 2

x− 2

|x− 2 |

x− 2

|x− 2 |

https://dl.doubtnut.com/l/_VrtxZRzMnOrp
https://dl.doubtnut.com/l/_9IxBoCwabXIZ


Watch Video Solution

42. If , then

A. f(x) is continuous at x = 0 only

B. f(x) is continuous at x = 1 only

C. f(x) is continuous at both x = 0 and x = 1

D. f(x) is discontinuous

Answer: C

Watch Video Solution

f(x) = |x| + |x − 1|

43. If  , thenf(x) = {
, forx ≠ 1

2 , forx = 1

x2 − 4x+ 3

x2 − 1

https://dl.doubtnut.com/l/_9IxBoCwabXIZ
https://dl.doubtnut.com/l/_WvwuPtBScN8I
https://dl.doubtnut.com/l/_xQZSGgFxYHYJ


A. f(x) is continuous at x = 0

B. f(x) has removable discontinuity

C. f(x) has irremovable discontinuity

D. None of these

Answer: B

View Text Solution

44. If  , then

A. f(x) is continuous at x = a

B. f(x) is discontinuous at x = a

C. 

D. 

f(x) = {
, whenx ≠ a

1 , whenx = a

|x−a |

x−a

lim
x→ a

f(x) = 1

lim
x→ a−

f(x) = lim
x→ a+

f(x)

https://dl.doubtnut.com/l/_xQZSGgFxYHYJ
https://dl.doubtnut.com/l/_LZER3ZeyVhnM


Answer: B

Watch Video Solution

45. The function  is

A. Continuous at the origin

B. Discontinuous at the origin because  is discoutinuos

there

C. Discontinuous at the origin because  is discoutinuos

there

D. Discontinuous at the origin because both  and  is

discoutinuos there

Answer: C

f(x) = |x| =
|x|

x

|x|

|x|

x

|x|
|x|

x

https://dl.doubtnut.com/l/_LZER3ZeyVhnM
https://dl.doubtnut.com/l/_PtYVlKmJ14gz


View Text Solution

46. The points of discontinuity of the function

 are -

A. x = 1 only

B. x = 1 and x = -1 only

C. x = 1, x = -1, x = -3 only

D. x = 1, x = -1, x = -3 and other value of x

Answer: C

Watch Video Solution

f(x) =
2x2 + 7

x3 + 3x2 − x − 3

https://dl.doubtnut.com/l/_PtYVlKmJ14gz
https://dl.doubtnut.com/l/_rNQeU39kHCYw


47. If  is defined by 


 

then the set of points of discontinuity of f is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f :R → R

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

x − 1 , forx ≤ 1

2 − x2 , for1 < x ≤ 3

x − 10 , for3 < x < 5

2x , forx ≥ 5

R − {1, 3, 5}

{1, 3, 5}

R − {1, 5}

{ }
1

5

https://dl.doubtnut.com/l/_8JvQft8dEW35


48. The number of points at which the function 

is discontinuous are

A. 1

B. 2

C. 3

D. 4

Answer: C

View Text Solution

f(x) =
1

log|x|

49. The number of discontinuities of the greatest interger

function  is equal to

A. 104

f(x) = [x] ∈ ( − , 100)
7
2

https://dl.doubtnut.com/l/_JbBYAMmMPlfB
https://dl.doubtnut.com/l/_2oD2Z8RMI3is


B. 100

C. 102

D. 103

Answer: D

View Text Solution

50. If the function 

 is continuous at every

point of its domain, then the value of b is

A. 

B. 0

C. 1

f(x) = {
5x − 4 , if0 < x ≤ 1

4x2 + 3bx , if1 < x ≤ 2

−1

https://dl.doubtnut.com/l/_2oD2Z8RMI3is
https://dl.doubtnut.com/l/_y1gJJBuKPKoG


D. none of these

Answer: A

Watch Video Solution

51. Let  . If f(x) is

continuous for all x, then k =

A. 7

B. -7

C. 

D. none of these

Answer: A

View Text Solution

f(x) =
⎧
⎨⎩

, ifx ≠ 2

k , ifx = 2

x3 +x2 − 16x+ 20

( x− 2 ) 2

±7

https://dl.doubtnut.com/l/_y1gJJBuKPKoG
https://dl.doubtnut.com/l/_5aT0HScYayIx


52. The function  , where  the greatest

function at x=0 f(x) has

A. Continuity

B. Irremovable discontinuity

C. Removable discontinuity

D. Cant say

Answer: B

Watch Video Solution

f(x) =
sin(x)

[x]
[x]

53. The function  is where {.} is fractional part

function

f(x) = sin{x}

https://dl.doubtnut.com/l/_5aT0HScYayIx
https://dl.doubtnut.com/l/_pVDZCQ3yixTL
https://dl.doubtnut.com/l/_eo3PVHPwrJj8


A. Continuous for all x

B. has removable discontinuity

C. has irremovable discontinuity

D. none of these

Answer: C

Watch Video Solution

54. Let . If f(x) is

continuous in , then  is

A. -1

B. 

C. 

f(x) = , x ≠ , x ∈ [0, ]
1 − tanx

4x − π

π

4

π

2

[0, ]
π

2
f( )

π

4

1

2

−
1

2

https://dl.doubtnut.com/l/_eo3PVHPwrJj8
https://dl.doubtnut.com/l/_1Mict0JISphH


D. 

Answer: C

Watch Video Solution

1

55. If the function 
 is continuous at

each point of its domain, then the value of 
2 (b) 
(c) 

(d) 

A. 2

B. 

C. 

D. 

Answer: B

f9x) =
2x − sin− 1 x

2x + tan− 1 x

f(0)
1

3
−

1

3
2

3

1

3

2

3

−
1

3

https://dl.doubtnut.com/l/_1Mict0JISphH
https://dl.doubtnut.com/l/_4CriJOdtTe8U


Watch Video Solution

56. The function  is

continuous at

A.  only

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

x + 2 , 1 ≤ x < 2

4 , x = 2

3x − 2 , x > 2

x = 2

x ≤ 2

x ≥ 2

https://dl.doubtnut.com/l/_4CriJOdtTe8U
https://dl.doubtnut.com/l/_oFgC0Oc9ffbU


57. The value(s) of x for which the function 

 


fails to be continuous is (are)

A. 1

B. 2

C. 3

D. All real numbers

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

1 − x , x < 1

(1 − x)(2 − x) , 1 ≤ x ≤ 2

3 − x , x > 2

https://dl.doubtnut.com/l/_8fOctPHRdRxW


58. If f(x) is continuous over , where f(x) is defined as 


 

then  and  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ − π, π]

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

−2 sinx , −π ≤ x ≤

α sinx + β , − < x <

cos x , ≤ x < π

−π

2
π

2
π

2
π

2

α β

α = − 1, β = 1

α = 1, β = − 1

α = 1, β = 1

α = β = 0

https://dl.doubtnut.com/l/_dwGjnNmeUJ2j


59. Let  

Then

A. f(x) is discontinuous for all A and B

B. f(x) is continuous for A = -1 and B = 1

C. f(x) is continuous for A = 1 and B = -1

D. f(x) is continuous for all real values of A, B

Answer: B

Watch Video Solution

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

−2 sinx , ifx ≤ −

A sinx + B , if− < x <

cos x , ifx ≥

π

2
π

2
π

2
π

2

https://dl.doubtnut.com/l/_0uGvxvbM7xkH


60. The value of p and q for which the function 

 

is continuous for all x in R, are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, x < 0

q , x = 0

, x > 0

sin ( p+ 1 ) x+ sin x

x

√x+x2 − √x

x3 / 2

p = , q = −
1
2

3
2

p = , q =
5
2

1
2

p = − , q =
3
2

1
2

p = , q =
1
2

3
2

https://dl.doubtnut.com/l/_n182F4upB2kN


61. Q. For every integer n, let an and bn be real numbers. Let

function  be given by a 

, 

 for all integers n.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f :R → R

f(x) = {an + sinπx, f or x ∈ [2n, 2n + 1]

_ n + cos πx, f or x ∈ (2n + 1, 2n)

an − bn+ 1 = − 1

an− 1 − bn− 1 = 0

an − bn = 1

an− 1 − bn = − 1

62. Let a function , where R is the set of real nos.

satisfying the equation  if f(x) is

f :R → R

f(x + y) = f(x) + f(y) ∀x, y

https://dl.doubtnut.com/l/_Ji406HnsP5kX
https://dl.doubtnut.com/l/_XZEgohtxeWT6


continuous at x = 0, then

A. f(x) is discontinuous 

B. f(x) is continuous 

C. f(x) is continuous 

D. none of these

Answer: B

View Text Solution

∀k ∈ R − {1}

∀k ∈ R

∀k ∈ R − {1, 2}

63. The value of f(0) so that the function 

 


becomes continuous is equal to

A. 

f(x) =
√1 + x − (1 + x)

1
3

x

1

6

https://dl.doubtnut.com/l/_XZEgohtxeWT6
https://dl.doubtnut.com/l/_XKsWqbXZcjav


Evaluation Test

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

4

2

1

3

1. The value of f(0), so that the function 

 is continuous everywhere is

A. 

B. 

C. 

f(x) =
1 − cos(1 − cos x)

x4

1

2

1

4

1

6

https://dl.doubtnut.com/l/_XKsWqbXZcjav
https://dl.doubtnut.com/l/_cPIdyWGOZfWe


D. 

Answer: D

Watch Video Solution

1

8

2. If  is continuous at , where

, for , then 

A. 1

B. 2

C. 0

D. -1

Answer: B

Watch Video Solution

f(x) x = 0

f(x) =
log(1 + x2) − log(1 − x2)

secx − cos x
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_cPIdyWGOZfWe
https://dl.doubtnut.com/l/_7PAquWoYY2ab


3. The value of f(0) , so that the function 

 


become continuous for all x, is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
√a2 − ax + x3 − √a2 + ax + x2

√a + x − √a − x

a√a

√a

−√a

−a√a

https://dl.doubtnut.com/l/_7PAquWoYY2ab
https://dl.doubtnut.com/l/_3fUmRgzbN35u


4. If 

, then f(x) is

A. continuous at x = 0

B. discontinuous at x = 0, but it is removable

C. discontinuous at x = 0, but it is not removable

D. none of these

Answer: B

View Text Solution

f(x) = , forx ≠ 0

= , forx = 0

10x + 7x − 14x − 5x

1 − cos x
10
7

5. 

A. a = 0

lim
x→ 0

=
sin3(√x)log(1 + 3x)

(tan− 1 √x)
2
(e5√x − 1)x

https://dl.doubtnut.com/l/_m4ByRGX75NkC
https://dl.doubtnut.com/l/_J5lrmj6w69ZK


B. 

C. 

D. 

Answer: B

Watch Video Solution

a =
3

5

a = 2

a =
5

2

6. The function  is not defined at x = 2. The

value of f(2) so that f is continuous at x = 2 is

A. 1

B. e

C. 

D. 

f(x) = (x − 1)
1

(2 − x )

1

e

1

e2

https://dl.doubtnut.com/l/_J5lrmj6w69ZK
https://dl.doubtnut.com/l/_8jAvpZuXGsld


Answer: C

Watch Video Solution

7. If the function  

is continuous in the interval , then the value of a and

b are respectively

A. 0,2

B. 1,1

C. 2,0

D. 2,1

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

1 + (sin) , for−∞ < x ≤ 1

ax + b , for1 < x < 3

6(tan) , for3 ≤ x < 6

πx

2

πx

12

( − ∞, 6)

https://dl.doubtnut.com/l/_8jAvpZuXGsld
https://dl.doubtnut.com/l/_KjENpcSfmVcy


8.  is continuous for

A. 

B. 

C. only 

D. no value of 

Answer: A

Watch Video Solution

f(x) = x + |x|

x ∈ ( − ∞, ∞)

x ∈ ( − ∞, ∞), − {0}

x > 0

x

9. Let  

Then the value of a and b if f is continuous at x = 0, are

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

(1 + |sin|) , − < x < 0

b , x = 0

e , 0 < x <

a

| sin x | π

6

tan 2x
tan 3x

π

6

https://dl.doubtnut.com/l/_KjENpcSfmVcy
https://dl.doubtnut.com/l/_yjrHntNNcw1S
https://dl.doubtnut.com/l/_GPt1JQfLXepu


respectively

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

,
2

3

3

2

, e
2

3

2
3

, e
3

2

3
2

10. The function , (where [y] is the greastest

interger less than or equal to y), is discontinuous at

A. all intergers

B. all intergers except 0 and 1

f(x) = [x]2 − [x2]

https://dl.doubtnut.com/l/_GPt1JQfLXepu
https://dl.doubtnut.com/l/_0Da2atTSqaOJ


C. all intergers except 0

D. all intergers except 1

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_0Da2atTSqaOJ

